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Draw the following energy diagrams
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275g of water vapor is cooled from 135°C to
19°C. Calculate the energy change
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Calculate the total energy change when 500g of
H,O is heated from 23°C to 109°C
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“energy change worksheet.doc
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Heat Change

1. Determine the amount of energy need to heat 250g of ice JD from -2(°C to -7°C

2. Determine the amount of energy needed to cool 65g of Aluminum from 80 to
25°C

3. Determine the amount of energy need to heat 10kg of iron from’@ to 500°C

Enthalpy Change

4. Determine the energy change when 700g of ethanol is melted .

5 Determine the energy change when 3.1 kg of water is vaporized.

6. Determine the energy change when 15g of hydrogen is condensed .
7 Determine the energy change when 155 g of ammonia freezes.

TOTAL ENERGY CHANGES
8. Determine the energy change when 550g of water is heated from P to 105°C
9. Determine the energy change when 700g of sodium is cooled from 26 to 23°C.
(NOTE: Na - melting point 97.8C
- boiling point 883°C
-specific heat capacity =1.226 J/G°C
H,,, = 101kJ/mol  H,, = 2.6 kJ/mol
10. Determine the energy change when 2kg of ice is heated from -Z to 109°C.
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Heat Change


1.  Determine the amount of energy need to heat 250g of ice H2O from -20OC to -7OC


2. Determine the amount of energy needed to cool 65g of Aluminum from 80OC to 


      25OC


3.  Determine the amount of energy need to heat 10kg of iron from 0OC to 500OC 


Enthalpy Change


4. Determine the energy change when 700g of ethanol is melted .


5. Determine the energy change when 3.1 kg of water is vaporized.  


6. Determine the energy change when 15g of  hydrogen is condensed .


7. Determine the energy change when 155 g of ammonia freezes.


TOTAL ENERGY CHANGES


8. Determine the energy change when 550g of water is heated from 10OC to 105OC


9. Determine the energy change when 700g of sodium is cooled from 200OC to 23OC. (NOTE:  Na – melting point 97.8OC                            Hvap = 101kJ/mol               


                                       - boiling point 883OC                             


                                       -specific heat capacity =1.226 J/GOC


                                        -     Hvap = 101kJ/mol      Hfus  = 2.6 kJ/mol         


      10.   Determine the energy change when 2kg of ice is heated from -12OC to 109OC.
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